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Note: (i) All guestions are compulsory.

(if) The question paper consists of 30 questions divided into four Sections *A’, ‘B’, ‘C’and 'D",
Scction ‘A’ compriscs of ten questions of 1 mark each, Section ‘B’ comprises of five questions
of 2 marks cach, Scction ‘C" comprises of ten questions ¢of 3 marks each and Section '[)’
comprises of five questions of & marks each.

(it} All questions in Section ‘A’ are to be answered in one word or sentence or as per the exact
requirement of the question.

{iv} There is no overall choice. Hotever, internal choice has been provided in one question of 2
marks, three questions of 3 marks cach and two questions of 6 marks cach, You have 10
atternpt only one of the altematives in all such questions.

(v) Inquestions on construction, drawing should be neat and exactly as per the given measurement.
(vi) Use of calculator is not permitted.

(vii}) Start from the first question and proceed to the last. Do not waste your time over a qucqunn
which you cannot salve,
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g — A
(SECTION —*A")
1, 1@7429afrmmgvmms?a§m$mﬁmaa?ﬁmu 1
Express the number 7429 as a product of its prime factors.
. 1
2. wmmmﬁm.mﬁwﬁﬁmmgmmtﬁa;h 1
Find a quadratic polynomial with the given number /2 and -1: as the sum and product of its zeroes
A
respectively.
s o BT i TR gt x4 3y = 6 3l 2x -3y =12 @ ¥ ]
Check whether the pair of equations x+ 3y =6 and 2x — 3y =12 is consistent.
4. Wﬂ“ﬁ%ﬂ&ﬁa\qﬁ%ﬁﬂﬁﬁu=-laﬂ?d=% 1
Write the first two terms of A, P.if a=-1 and d= %
4
5. ufX ranA=§ﬁ‘rsinAﬁmmsA &1 7 T A 1
IftanA = % then find the value of sin A and cos A,
6. R wmat @ qfif #ifere- Vb = |
Fill in the blanks—
(@) T GO BT e, WA T TG T T E S
A circle can have ............. parallel tangents at the most.
(@) 7o o S wWe va & s g @ o T B
The common point of & izngent to a circle and the circle is called ...
7 ﬂw?ﬂgﬁﬁwﬁt@%mﬁémaﬁmﬁﬁ%mwwmﬁm? |
Sides of two similar triangles are in the ratio 4 : 9. What will be the ratio of areas of these triangles 7
3 TE W T SO aSC FAwadr e 5 WAL § R 7 12 W 1
Find the volume of the cuboid whose sides are 5 cm, 8 cm and 12 cm.
9. WRA, WREE T agee @ A W R | 1
Write the relation between mean, median and mode.
10. afR P(E)=0.05 & T 'E &' F wiywEw T % | 1
1€ P(E) = 0.05, what is the probability of ‘not E' ?
gog — §
(SECTION - ‘B
11 & T e Riew g yoie s Afr R gt 2 @ 290 .2
Find two conseeutive odd positive integers, sum of whose squares is 290.
231 (HXT) (2]
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12 T oot =— 7 A PR - . 2
3 (L +5in0) (1 = sin0)
1+ ¢0s0) (1—cos®
If cotG=-‘3’:, then cvaluate : ( H )
st (OR)
fog @A : [l-cosA
= A=cotA
Prove that : [+ cos A LOs2C €O

13, X-om@ W aF fwg W PR T (2, -5) AR (-2,9) W T 2| 2
Find the point on the X-axis which is equidistant from (2, -5) and (=2, 9).

14. 6 3 Faoar 7 O ou Wi | B @ 10 9§ gF Rem 1@ R A g o wRE Y g @
e e st FREal 7R | 2
Draw a circle of radius 6 em. From & point 10 cm away from its centre, construct the pair of tangent
to the circle and measure their lengths.

15. 52 i 2 o YER ¥ B T 1@ e ¥ ¥ 1@ ger Frawen www ¥ freafaken B ww o
# wfrwa S B — +1a2
(F) T 7 F ACYE (@) TF FQ FE Wi TR qrE Tl
One card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting —

(a) 8 king of red colou: (b) a face card
U —- W
(SECTION —*C")

16. HCF (306, 657) =9 far & | LCM (306, 657) amer 2R 3
Given that HCF (306, 657) = 9. Find LCM (306, 637).

er (OR)
frg PR 5 34245 % A w21
Prove that 3+ 245 is irrational.

17, 2x¢ —3xd =3P+ 6x -2 o W YRS ST AT, T AT gD N I 2 AR - 2 wm
14 3
Find all the zeroes of 2x* —3x* —3x¥ +6x - 2, if you know that two of its zeroes are +/2 and ~ /2.

18, Tfe iy warow i1 (AR @ wers 7 W) @1 O 49 € 3w Wy 17 wSY F7 @ 289 B, ot gee
W n UE} B AN S g | 3
If the sum of first 7 terms of an A.P. is 49 and that of 17 terms is 289, find the sum of first n terms.

231 (HXD) (31 (PT.O.
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19. uﬁmﬁm%aﬁmmmfﬂmﬁﬁmm&.%ﬁﬁaﬂmmﬁ%mﬁmmm

20,

22,

23

24

ﬁ,ﬁ‘fuﬁ%@mﬁ%ﬁmm%gﬁmmmﬁﬁﬁmﬁﬁﬂm 3

If we add 1 to the numerator and subtract 1 form the denominator, a fraction reduces to 1. It becomes

% if we only add 1 to the denominator. Form the pair of linear equations and find the fraction by
solving them.

frg #Re : _tan® cot9 = 1+3sec@ cosec 0 (et & =1 =™ ) ’

+
Prove that :  1=-cot@ 1-tan® (where 0 is acute angle)

st (OR)

R : (cosec A —sin A) (sec A—cos A) = ] (@& A =7 B E)

Prove that: tan A +cot A (where A is acute angle)
Rgal A(7.6). B(3.5), C(7.-4 F w9 A B[ ABC @1 85w FIRt BT 3
Find the area of a triangle ABC formed by the point A (7, 6), B(3,5), C(7.—-4).

Rt (5,-6) ST (-1, —4) B A et YATETE @y fve aura § e IR & 7 39
e famg @ Prdwie A m ST 3
Find the ratio in which the y-axis divides the line segment joining the points (5, —6) and (-1, - 4).
Also find the point of intersection.

T AT e @ 7O Bifory, Rt 4o (wof & wfaieen) 4 W T 3 N wEE @ 6 R
Qﬁaﬁ:ﬁgﬁaﬁmaﬁﬁﬂ.ﬁmﬁwﬁféﬁ@ﬁgﬁaﬁmmaﬁ%rﬁﬁl 3

Draw a right angle triangle whose sides (other than Hypotenuse) are of lengths 4 em and 3 e Then

5
construct another triangle whose sides arc 3 times the corresponding sides of the given triangle.

aft T a1 UF Bt ABC % il AB 3R AC @1 e D @0 EW
Wﬁmwﬂﬂ%mﬁ{ﬁaaﬂmﬁmﬁﬁqﬁa

If a line intersects sides AB and AC of 2 triangle ABC at D and E respectively

AD
and is paraliel to BC (according to figure), prove tha B = aic”
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& g AR ¥ AB ofR CD Fw O o Fromwdi 21 ¥W1 &R 7 I A
31 HawrE gol @ WA I A # ) T ZAOB = 30° &, o wrmifea
T SAFA T HIAT

In given figure, AB and CD are respectively arcs of two concentric circles of
radii 21 em and 7 cm and centre Q. If #£AOB = 30°, find the area of the

shaded region.

ey (OR)

1 7 gy # AB SR CD &= O WA U g6 & ¥ WER @ g
F Wl OD B 30 W ARy 81 9l 0A =7 M & o proifdsr W @
G T S |

In given figure AB and CD are two diameters of a circle (with center Q)

perpendicular 1o each other and OD is the diameter of the smaller circle. If
OA =7 cm, find the arca of the shaded region.

Hqug - ¢
(SECTION - ‘D"

a7 wifdaal @ s w1 I ¢ 2 7 # SR e WAt 3 AU 40 3 8| o yeve e uiy TR
F 2000 ¥ 99 @QT &, 7 IS WAE 4@ mra g | 6
The ratio of incomes of two persons 15 9 : 7 and the ratio of their expenditures is 4 : 3. If each of them
manages (o save Rs 2000 per month, find their monthly incomes.

ot (OR)
@ Ay dre, fore fer o 4 ute 18 et /der €, 24 ol amr @ sfem W A o 7

U & 3R W 9 A0ET 1 Her e 8l & anr o =e s kg

A mator boat whose speed is 18 km/h in still water takes 1 hour more to go 24 km upstream than to
return downstream to the same spot. Find the speed of the stream.

st & 200 e T W fom @ fag @ argw w1 9 A B 30° 9 A9 ¥ pa) werd
B AT B 60° ¢ A ATA B HAS IR AR 6
The angle af elevation of 8 cloud from point 200 meter above a lake is 307 and the angle of depression
of'its reflection in the lake is 60°. Find the height of the cloud,

231 (HIXT) (5] [P.T.O.
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8. R ABCD ¥ sy fR O @ g ¥ (R b1 =) | A D
g B & OB + 0D = OA +OC ¥ N 6
O is any point inside a rectangle ABCD (see the figure).

Prove that OB® + OD® = QA® + OC°.
FUEr (OR)

Rrg AT fr frdl T g 3 @ T @ T 9 2 qeml W T o $ S W
g |

T w1 W IR @ ga wikag-

10 Hrer & vF € @ SlarR W ReW ) 4f ¥ § ey # Sy W Rem @ Raed) aw
méad) &1 G B o @ A @ B AR A g8 ww A

Prove that in a right triangle, the square of the hypotenusc is equal to the sum of the squares of the
other two sides.

Using the above, solve the following -

A ladder 10 mcter long reaches a window 8 meter above the ground. Find the distance of the foot of
the ladder from base of the wall.

29, 32 9 S alv MR P 18 Wit Al T JeeR Ael Y X WA g ¥ g9 A B R
R @R fEar e & iR 39 Y @ e TR 20 o= ol # | o vrerer 39 @ dud
.24 AW R A =9 0 B e ik Adw Fard g A 6

A cylindrical bucket, 32 em high and with radius of base 18 cm, is filled with sand. This bucket is
empticd on the ground and a conical heap of sand is formed. If the height of the conical heap is 24 cm,
find the radius and slant height of the heap.

30, Preffia oiwst @ wras 525 &1 o arawanit B 307 100 & o x Wk y & 5= AR 6
The median of the following data is 525. Find the value of X and y, if the total frequency is 100.
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